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Candidates are required to give thelr answers in
their own words as far as possible.
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Marks allotted to each question are indicated

against it.
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You must write question paper series in the circle
at top left side of the title page of yowr answer-

book.
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While answering your questions, you must
indicate on your answer book the same question
no. as appears in your question-paper.




BeT-gI3N R H AR fpa & o ? 1

When and by whom Hoa-Hao movement started ?

Rafsir S+ A5 &t @t %9 olR Ree @t 7 1

When and who discovered Spinning Jenny
Machine ?

U Ot e 99 ?
Who formed Swaraj Party ?




mﬁﬁmﬁnﬁmmaﬁﬁm%mﬁﬁw
FeR 8 ? * 1

How much percentage of population of India
depends upon agriculture for livelihood ?

a9 69 YR & Hare ¢ 7 FLe 1
What type of resources are forests ? i
S St & R ¥ wad e den e g 1

When the first declaration of consumer rights was
made ?




10.

% IR # Awiva: gk gtk ¥ IWEA ...
5% N TRk ¥ 1

(®) Srafi (@) Rl () gl () g e
Production of a commodity, mostly through the
natural process, is an activity of ........ sector.

(a) Primary (b) secondary (c) Tertiary
(d) Information Technology

WA 3 ST & A it | 1
Name the official language of India.

ARA B Q@ QA G F A Tl | 1
Name the oldest party of India.

TG 1 8 ? 1

What is a landslide ?
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A T geT FRT /T R 7

What is the main cause of Tsunami ?

d § NSS 3t ®e F9 A & ?
When was NSS set up in India ?

TR 99 W ERa Hie @
Write a short note on the Gutenberg Press.

AN % RER & 1 gaa9 8 ?
What is meant by the idea of Satyagraha ?

qriems X STHfar 9 & ?

Who were Marianne and Germania ?
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daamTF A & ? -2
What are biotic resources ? |

a1 2 ? 2
What is mineral ?

ot A YR T HETe 8 7 2
What type of resource is water ?

Pt A T F YA G 8 7 2

What is the main source of income of banks ?

&V U@ T9E 7 B Rt & SRl w1 B 2,

Describe any two objectives of a Search and Rescue
Team. .
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R 3 81 9 |ret & T qared | 2
Name any three means of Communication.

T TRONE HOREH Wl a% eRA W Y Ggd ™I
qr ? | 3

Why had the port of Surat declined by the end of
eighteenth century ?

e & omu i STl @ wfewet it ger #

AT G | SATEAT %1 | 3
Social changes in Britain led to increase in women

readers. Explain.

qerst a3 & 5aT ST A UM B o 41 77y oM
aifeq ? 3
What steps should be taken to control soil erosion
in the hilly areas ?




25. A AR PR gt # afwl B P 38 Ay |
3

g7 |
How are minerals formed in igneous and
metamorphic rocks ? |

26. R q =1 3 9P W Rg Sk 3

Analyse the role of credit in development.

27. mﬁﬁmmaﬁﬁam%mﬁﬁmm?if
AdTIAE ? 3

Service sector in India, employs two different kind
of people. Who are these people ?

28. et it oo <@ @ T P A # ? 3
What are the characteristics of any political party ?
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IRa & 59 @ o ot Sfera SrHFae o € ? 3

State how caste inequalities are still continuing in
India ?

Y& 3 SHRAS A1 H GRAMT BT qo g i)
ISl B AEAFHA B TR T Q HROT AT | 3

Define the community contingency plan and give
two reasons for the need of a plan.

g AR 9ol GO § wearl SR-Rasi | @
g o) 5

‘Write an essay on good practices towards

conserving forest and wildlife.
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oRae oK g9 & are Rl 39 A Shaa-ar adn

SrdeyaRr [ e A € ¢ 5

Why are the means of transportation and
communication called the lifelines of a nation and
its economy ?

Riea X5 Rt ot 1 e S0 @ Rie Re e
IS & JAT HI & ? 39 HI9LUS F, R FNS 8, At
e @ ¥ ? 5
What is the main criterion used by the World Bank

in classifying different categories ? What are the
limitations of this criterion, if any.

HAYqT/or
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wﬁmeﬂ%gsaﬁmﬁﬁmahmwgs
qferrar ot |

Mention some of the rights of consumers and write
a few sentences on each.

ST T AR AT A FIR BN FI T
¥ fre ARET I F FH IoIT 7 6

What changes did Napoleon introduce to make the
administrative system more efficient in territories

ruled by him ?
© g@/or
el g8 & T Y A N A F dA T ? 6

Why the population of London expanded from the
middle of the eighteenth century ?
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1992%%@«%%%@1«%@%
3 %13 3 FEEge ol H qaw | 6

State any two significant differences between the

local government before and after Constitutional
amendment in 1992.

YT /or
aﬂmaﬁﬁﬁqﬁﬁfﬁmmﬁmaﬁ#m%
AR I NI¥ iy BT & ? 6

What are conditions under which democracy handle
and harmonize social differences ?




35. @3dl ® T H@ g PR ® wRaRe 3
AR ¥ WY : ,
(F) ¥R B 9ARA F - 3

(i) =Tae IWRE 3 WA (i) TeFE
(iii) R= 7ERrR
@) R ERE A - | 3
(i) F3 (i) I (jii) STFNFREE
Fill the following in the map of India/World using
the symbols :
(@) InIndia’s Map-
(i) Rice producing two states (ii) Mahanadi
(iii) Indian Ocean
(b) InWorld’s Map -
(i) England (ii) China (iii) Afghanistan




